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Unlocking Script Locking Script

(scriptSig) + (scriptPubKey)
l__ l—_
<sig> <Pubk> DUP HASH160 <PubKHash> EQUALVERIFY CHECKSIG
* #
Unlock Script Lock Script (scriptPubKey) is found in a transaction output and is the
(scriptSig) is provided encumbrance that must be fulfilled to spend the output
by the user to resolve

the encumbrance



Script

Opcode Description
OP_ADD a+b

If the top stack value is not 0, the
OP_IF statements are executed. The top

stack value is removed

The input is hashed two times

SlF ez with SHA-256.




Script Example

e Locking Script: (empty)
Unlocking Script: OP_TRUE

Anyone can spend

o <K1><K2><K3>2 OP_CHECKMULTISIGVERIFY
Unlocking Script: 2 <S1> <S3>

Two out of three must agree






